Cross over EA

 Indicators used:
Forexatron (if Envelopes cannot be used) 
Stochastic Oscillator –
ATR 1 – all trades are screened to open only above a chosen ATR. 
ATR 2– is used to help determine the entry in some long range bars. Explained later. 
Moving averages
Trigger settings – uses 2 moving averages. The default settings: 
Upper moving average set to 3 Period, shift 3, smoothed, apply to high, green. 
Lower moving average. Same setting but apply to low, red. 
Options shall allow adjustment of settings. 
Trigger options: 
1. Candle close on cross of ma. T/F - When using this option, the candle that closes below the ma needs to be a bear candle when going short, or a bull candle when going long. The bar needs to close within the ATR, or the trade will not open. For instance, if the ATR is set to 4 periods, and the ATR for the previous 4 periods (not the current bar) is 10 pips, then the bar that crosses the ma will not open the trade if the closing of the bar below the ma exceeds 10 pips.  
2. ATR or less opens. T/F – With this option, the candle that crosses the ma will open the trade if 1) the candle closes within the ATR, or 2)  price touches the ATR. 
3. When price moves _____ pips above/below the ma. T/F  
Setting: 

ATR 2

Limit open to pips from last   ____ periods

Note: See screenshot and explanation below for example.
Rules:
Buy trade
Buy is triggered when a  bull candle closes above the green ma, or when the candle that crosses the ma reaches the ATR above the ma, regardless as to whether it closes or not. This prevents a long range bar from opening a trade. 

If a trade is triggered then closes (either by taking profit or being stopped out), price can re-enter in the same direction provided price closes below the green line, then a subsequent candle closes back above it, or when a bull candle reaches the ATR above the ma, regardless as to whether it closes or not. 
Sell trade (same but reversed)
Sell is triggered when a  bear candle closes below the red ma, or when the candle that crosses the ma reaches the ATR below the ma, regardless as to whether it closes or not. 
If a trade is triggered then closes, price can re-enter in the same direction provided price closes above the red line, then a subsequent candle closes back below it, or when a bear candle reaches the ATR above the ma, regardless as to whether it closes or not. 

Take Profit Settings– (Use same settings as PT Tester v4.1.3. Use TP1 and TP1 percent, and TP2, and TP2 percent.)
TP1              ___pips ___
Percent 1 -    close     ___%____
TP1 trail options: 
Standard trail T/F  (same as PT Tester v4.1.3)
Begin trailing when ___ pips in profit (trail begins at SL and moves one pip for each pip in profit)
Jump Trail – T/F
Jump Start   _____  (Trail jumps forward when price is ____ pips in profit.)
Trail By  _______	

TP2                  ___pips_   Leave blank if allowing TS to close remaining position. 
Percent 2        ___%___
TP2 trail 
Begin trailing when ___ pips in profit (trail begins at SL and moves one pip for each pip in profit)
Jump Trail – T/F
Jump Start   _____  (Trail jumps forward when price is ____ pips in profit.)
Trail By  _______	
Stop Loss settings: 
SL1  _____
Percent 1 ____
SL2   _____
Percent 2 _____
SL3 ____
Percent 3 ____
SL4 _____
Percent 4 _____
SL and trailing stop relationship
The initial trailing stop will always begin at the farthest SL.  If more than one SL is used, then as price moves into profit, the trailing stop will only incrementally once price has moved the same distance as the last SL to the following. For example, if there are 4 SL levels, then the trail will make its first move from SL4 to SL3. The trail will not move pip for pip. It will wait until price has moved the same distance as the distance between SL4 and SL3. Then it will leap forward to SL3.
Example:
If there are four SL targets, each separated by 20 pips (total of 80 pips to final SL), then when TS is set to True, and there are more than one SL, the trailing stop will move in increments the same distance as the last stop loss. For instance, if there are 4 SL’s at 20 pips each, and price moves 20 pips in profit, then the trailing stop will move from SL4 to SL3, and will remain there until price moves another 20 pips. Then the TS will leap forward  SL2, etc. Each time price moves by the amount of the last open SL, the TS will move to the next SL. 
This rule only applies when using more than one SL. If only using one SL, then the TS moves pip for pip with price.

Risk - ___%___ of account
Time settings – same as PT Tester       
If using Stochastic and/or Envelope (or Forexatron): 
Use Forexatron – T/F
Forexatron settings
Prices must rise and touch the upper/lower envelope. Then price must cross ma for trigger. 
Use Stochastic – T/F
Stochastic Settings – Use MT4 default settings
 Stochastic must be overbought/sold, which is indicated by the upper level setting. Then price must cross ma for trigger. 
If both Forexatron and Stochastic is True, the order is not important. But both must have occurred.   Once these two conditions are met, sell trade is triggered at the first candle that crosses below the lower red ma according to the trigger option that was chosen.   
Second attempt  T/F If first trigger is stopped out, EA automatically opens a second attempt when price retraces above red ma average, then closes down over green ma no more than _____ pips. 
Open new at re-cross of _____ pips. 
Setting: ATR 1
ATR screens all trades T/F
Trades open when___ period ATR is above ______ pips.
Note: This ATR will have its own independent property settings. 


Screenshot explanation of using ATR to open trade.
Option 2 - In this example, the ATR was set to 4 periods, which was 20 pips. 
Note that the bear candle (above red arrow) that crossed below the red ma line was a long range bar. Since the rules require the bar that crosses the line must close and be a bear candle, opening a trade with a long bar would create too great a risk for a pullback. Therefore, option 2 allows the trade to open when price touches the ATR, or when the bar closes within that range, and must be a bear candle. 
The blue horizontal line represents price level where the candle crossed the ma.  Also notice the yellow horizontal line below the blue line. This level represents the ATR of 20 pips.  Therefore, the trade for option 2 would open at the yellow line. (No actual lines are used. They are only for demonstration. 





